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{1) Question 1 is compulsory.
{2) Solve any three from remaining five.
{3) Draw neat sketches wherever require. U s .
(4) Assume suitable data if required. F P : ~..‘<55, o
Solve any four - .
(z2) Explain E-UTRAN with suitable diagram 2
(b) What are the three phases of wireless netwo k design? Explain
(¢) What is ‘hidden node’ and ‘exposed node’ problem in WLAN?
(d) What are the basic middleware functions for WSN? Explain. :
(¢) Withasuitable example explai\n'cg‘tggory-:l-,.@dt_ca;tggq;y 2 of sensor 3
network 4: :. N ¥ . . A = 2
(a) Explain middleware architecture of WSN -~ :

ST Rl R e 10
(b) Explain HSDPA emphasizing its primary objectives and how it achieves = 10
performance improvement? - ST AR P S O
(a) Give the detailed radio _aécés‘tsj”‘I.icTtWo:kav@r\f_iew'._“E)__gpiaiq-:in;fdetail‘f 10

functions of Node B and RNC also draw UTRAN logical architecture
() List out the factors éffqbtiﬁ'g‘,kii@ﬁﬁﬁw:geﬂu’lai‘p'etwqi'k'a;iﬂ the frequency 10
planning. Disqusg..,thgse:fa@tef‘s{m;_dgfalﬁr;:Q har o, el g
(a Why TCP and UDP protocols are unsuitable:for implementation in WSN. 10
(b) Using the following data for 2 GSM network, estimate the voice and data 10
traffic per subscriber. If there are 40 BTS sites, calculate voice and data
traffic per cell. e T T ST LT
o Subscriber usage per month: 150 minutes
_» Dayspermonth:24 .
- » Busyhoursperday:6
=

* Frequency reuse plan: 4/12. -~
'+ RF channel width: 200 kHz(full rate)
= Present no. of subscriber in the zene: 50,000
_ s Subscriber growth per yeay: 5%
" etwork roll out period: 4 years
e« Number of packet calls per session (NPCS): 5
“e Number of packets within a packet call (NPP): 25
© '« Reading time between packet calls (Tr): 120
e Packet SIZS(NBP)4‘80 bytes
N )
*
L)

. Time interval between two packets inside a packet call (Tin): 0.01s
'+ Total packet service holding time during one hour (Tit): 3000s
. Busy hour packet sessions per subscriber: 0.15
e Penetration of data subscribers: 25%
_Data-rate of each subscriber: 48 kbps
- ':P?aélg@t,_transmission time: 10 s
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(a)
(b)

(a)
(b)

Q. P. Code: 36601

Packet Arrival Interval

Why network management design is critical issue in WSN? Explain. 10
What is localization of WSN nodes? Explain with examples centralized and 10
distributed schemes in localization. .
Explain Bluetooth security features and security levels with proper diagram 10
Write short note on (any two);

(1) WIMAX
(2) RFID
(3) ZigBee
(4) LTE
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Time: 3 hours

NB: 1) Question number 1 is compulsory.
2) Answer any three questions out of remaining questlons
3) Answer the questions with suitable diagrams.

1. Answer the following
(a) Discuss 1) GPS and VSAT

(b) Compare (i) FH- CDMA and DS-CDMA.. T
(ii) Explain Launchmg of Geo

2. (a) Explain block diagram of Transmﬂ*’and&cﬁive type of earth_statimi,

Explain each block in detail. - :

(¢) Which types of antennas are usedm{ sateliﬁe commmm;atwn
Explain one antenna in ﬁetal} 3‘1 o el i

'\..'

3. (a) What is Earth echpm ufb’ételw ?: 0 A Wi W
Are there any ways of avmdmgeqkpsg: du;mg ljfetlme of sateﬂxte nl
(b)Explamthefeﬁowmg'” - RS :

(i) 1 db Compresgiqn_pmm
(ii) AM to PM Qonvcrswn T

4. () Des:?nt}erdtﬁferent stabrhzatlon Techmqu 2
(b) Exglam TT-&C: systam Mth the heig x&fbl j k'awam

Wnté“ShQﬁ'nutes oh any two S

{a ) @phtal I{ll(%atel:lite titanﬁ@ﬁter and receiver
o (5) Gnﬁqﬁr¢mnmhvxty with transparent processing
{G) Frgrhe crgam;atmn and window organization
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the following instructions.

(2) Question No.1 is compulsory

{b) Total 4 questions need to be solved i s
{c) Attempt any three questions from remaining ﬁvequemns.
(d) Assume suitable data wherever necessary, justlfy / the same &,

1.
a. Explain Control bits (flags) in T ; :
b. Draw the OSI Model and list twa;fune;:qﬁs of eac Iayer :
. An IP datagram has arrived w1E11 the»»fb’llbwmg mfoxmauoﬁm the
450000540003oooozﬁosaoobﬁ» 03.02
i) What is the version.of: ]}3? 1i) Are there aity 1
fragmented? iv) What j is “the "h&atié‘r 1ength? v "hat is’ 0 "hé“data‘?
vi) Is a checksum used? v:\");HQw “many ‘routers can the, packct travel to?
viii) What is the ldﬁnhﬁga: &humbepof thep ket? ix) What is.the type of
servxce‘? X) The“dafa;bg!ongv to what ugper&ayer protocol?: <
d. gi“mﬁ by‘;TT’U toa[low teléphones Qil publlc telephone
2. : s [10x2]
a. Explam :h bmfona lessage tran -emgéhband_ cme message access agent.

b. Dlscuss DHCP “When ﬂl&‘d:e

[10x2]

| xi:ia.;gi thé d}gmzatmn and;. ipression of Audio and Video.
A d $1Wk§f hhdr;esses starting with 120.60.4.0/20. The ISP
A Wants{o ,dlstnbute-fh(% biqsk\ﬁo. 100 organizations with each organization
Jﬁ(féﬂ?igg 8 addresses o Ee&gn the subblocks and give the slash notation
o for 'feachusubblock 21 oufi})w’w many addresses are still available after these

[10x2]

4. . d Igned to handle real-time traffic on the internet.

| '.;\ )Exp}lam ati«app‘hg;aupn layer protocol that establishes, manages,and terminates
- _a multite 'dia -session(call).

[5x4]

on ééhon estabhshment in TCP using Three-way Handshaking,
iniques to Improve Quality of Service (QoS).
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Q. P. Code: 38795
Duration: 3 Hours . Marks: 80

11) Question No. 1 is compulsory
2) Attempt any Three questions from the remaining Five questions

{3) Figures to the right indicate full marks

Explain the procedure to calculate the short time- euerg} of speeeh signal ” : '_,[4]

is prosody with regards to speech synthesis? [4]

Explain formation of vowels either by showing a vowel quadrilateral ora :
18] -

- wowel triangle. :
Is the speech signal stationary or non-stationary" Jus tify your- anmer : 4]

Explain the use of wideband spectrogram of a speech signal. 131

What are the various forms of STFT? GiVe expressious for each case.
Explain interpretation of short- time speetrnm annlysia ‘as filters with suitable

block diagram. [8]
Elaborare with suitable equations any three methods for estimating the pitch of a
speech signal. [6]
Write a note on production of semivowels and nasals. Blow can we - differentiate
#hem on the basis of ‘helr formant vaiues" ' : [6]

Explain how Linear Preojetwn Filter for speech predlctmn represents an all pole
Siter? What should be the order of the filter to be consule: ed for practical

spplications? . [10]
Draw the lattice structure of an all pole ﬁlter of orgler one sh owing proper
equations. : [10]
Explain with a suitable block dingram and proper waveforms a procedure to
uparate?‘the vocal tract frequency response from the excitation in a speech

{10]

signal.

Expiain ﬂle necessity of the mel scale with reference to the hearing mechanism. [10]

Explain with suitable equations the Levinspn Durbin algorithm for calculation of the

predictor coefficients. 8]
lain the applications of speech processing in detail. [5]
Explain with a suitable example the dynamic time warping algorithm. n

What is CELP"‘:Explain the 1S federal standard 1016 using CEL P? [10]
Draw the state diagram for EIMM as a general case and explain how you wouid

develop a transition matﬂx from the same, 119
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Q.P. Code : 17003
[Time: Three Hours] :"': o S [ Marks:80]
Please check whether you have got the right quest:lon paper
N.B: 1. Q.l1lis compulsory : :
2. Solve any three questions out of remam'mg' o i
3. Assume suitable data if necessary stating it clearly

What is OMAP in network management? 05.
What is remote monitoring? 05
Compare between SNMPv1 and SNMPv3? 05
Describe Code Book Reasoning based event cbrreiatien-te(‘:‘hﬁique? s PR T 05

¥ou are administering the 24000 workstations in an organization. You aramng(ngeach stat:on 10
periodically. The message size in both dtrettions is 128 bytes long.. The 'NMS you are using is
o 2 10-Mbps LAN, which functions with 30% efflciency What. iwuld be the frequency of your

@ing if you were not to exceed 5% overhead?
Lt and describe SNMP various demands wath commandsvntax ; 10

With respect to I1SO/0SI network management. Descrlbe followmg temjs 10

1 Scoping and Filtering
4 Linked Replies

&) GDMO

! ACSE and ROSE

Draw a neat diagram of TMN functional architecture with interfaces. 10

Lt and describe RMON2 MIB groups witﬁ their functions. 10

What is -SNMI" proxy server? 10

. Explain user security model (USM) of SNMP@&? 10
Oraw and describe SNMP v1 message and SNMP v1PDU formats. 10

- Explain the significance of Trap. ,Descr%be the different types of traps. 10
10

tis ATM Network management?
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